EE 215 Fundamentals of Electrical Engineering Spring 2010
Problem #3 Solution
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Solving, v; =101.24 V; v, =10.66 V; v3 = —106.57 V
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[b] 3 Py = 125, + 12505 = 5273.09 W

> Py = i1(1) +i5(2) +i3(1) + i3(6) +i3(12) +ig(24) = 5273.09 W
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Solving, v, = 162 V;
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Therefore, the total power developed is 3840 W.
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Solving, vy =352 V; 1y =212 V; ia =22A;
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Psai, = 84(2.2)(3.4) = 628.32 W (abs)
Pasa = —25(352) = —8300 W(del)

Paey = 8800 W
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Zpdev — Z'pabs = 8300 W
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Solving, v, =150 V; w3 =80V; v, =140V, 0v5;=90V
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H(10)2(1) + (25)2(2) + (15)2(6) = 21.850 W



